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34 = 6. 1 10, 0 HE] 60
35 52.3 44 40.9 65.1 T 1001 48.7
36 15. 4 10. 2 HEL 3060
37 52.3 59 40. 1 66. 0 T 2501 48.3
38 15.5 0.4 HE 3060
39 53.3 55 39.8 66. 3 T — 48.9
40 55.6 38 40. 4 66. 5 T 2619 50.7
41 = $7.2 - 10, 4 — EL 2648 —
42 = 8.7 22 0. 1 67 6 El 1031 |
43 = 58. 7 5 10, § 65,2 HE 147 54.2
44 - al.5 13 10, 8 58. 9 HEL =
45 = 32 16 10, 8 62. 1 HEL 50
46 = 50. 4 3 39. § i HEI 1T
47 o 17.3 39.3 HEI
48 = 19,4 10 1 HEL
49 56.9 15 39.3 63. 5 T 51.8
50 15. 6 39. 4 T
51 3 8 b HEL 6
52 15. 6 16, 7 HEL
53 = §9:-2 10, 4 HEL
54« 5.3 41,10 HEL
55 v 7 14 b3, HEI Al
56 ), T i2 1.2 7203 HEIL 31 56
BT 2 j22 1 1645
58 5.2 42,5 HEL 542
59 18, 3 42,3 268
60 3.9 48 42.7 67.6 T 2325 50.8
61 55.7 39 43.1 67.1 T 2589 51
62 51.6 T T
63 55.8 23 43.4 65. 4 T — 51.8
64 = 52.7 43, 5 HEI 113
65 i =] T
66 15, 0 12 F
67 53. 432 T
68 52.3 8 41. 4 57.9 T — 48.8
69 52.2 61 40.5 65. 6 T 2972 47.8
70 = 16. 4 40, 5 - 1 g2 —
71 54.2 66 40. 8 67.8 T == 49. 6
72 53.1 10 41. 6 59.3 T = 49.3
73 B 18:05:20 53.1 32 40. 5 64.2 T 3913 49.1
T4 BA I8 11:13 4. 5 1€ 11.4 Bt HEL nRe
] Hig 18:29:13 54.0 53 40.2 66. 5 T = 49,

14 /18 A=Y



PIHZEHRED MESETRERAR BRTAR
BIE R4 : HNO3 78 » FU/NERR

BUER @ 20214F01 401 H (&) REXS . AHRE
BIE H5 HURERT « SEREE
Lae -":fu'fl L.Aqu: 1
N \ B ! on WECPN
N1 N2 N3 N4 N — La T e & |~ o-es ECPNL
0 27 2 0 29 67.2 32.4 34.5 29.3 = 54.1 42.3
N (liz8) v -n52l
T R (MEM) MRS A"y HERThrM] O REEE T L FrR AR Lyeq
W57 8 dB 24 dB dB dB
6 Wee IB.487:14 V.5 0.4 HEL H01
77 @ e BB 52.0 i1 10. 2 G4. 4 HEL 584 38,3
78 HE 19:14:41 24. 1 51 40.3 68.1 T — 51.0
79 # BB 19:23:04 52,2 13 10. 2 5Y. § HEL 584 18,7
80 # 8 {5. 3 30. 8 T
81 Itz 50.8 47 40.7 64.5 T — 47.8
B2 = L5 51,3 1 10.9 60,0 {E1 589 1801
83 =* I 17.9 0.7 oF
84 +# Ha 22 15, 8 39.8 ]
B 4 Wi 22 aF
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PIHZEEED MERBRTRESLR BEARH
BIEH4% : HNO3 78 + [FUNERF

BER ;2021401 A 020 (1) WEXS : EHRE
B 7E Hb Hs R . ERRTE
[ La L seq Lasmax |
N { N N en WECPN
1 N2 N3 4 it Lg R 5% & |~ ECPNL
1 27 1 2 31 67.9 33.4 34.9 27. 8 20.7 54.5 45.3
R (W5 -8R
FE o (EER)BEZ A" REREFR) R Ly FIRAIE Lieq
) e R 24 dB B dB dB dB
T 5.4 T 39.5 55. 8 OF = .4
2 2 ] al.5 12. 5 T i
3 i 6 16, 0 13,1 1
4 Wi 7 19, 8 12.3 I
5 HWig T 17.9 12.4 HEL
6 HaE T 32.0 E 12.8 T
T Bz 7:36: 54.9 54 41. 68. 4 T 2823 51.1
8 e 7 5.4 1.9 T
9 Bz 7:51:20 52.5 22 41.5 62. 4 T = 49.0
10 Bi%s  7:55:49 54. 4 50 41.6 66.3 T 732 49.3
11 WEE 8:19:42 03.2 57 40.6 68.0 T 2794 50.5
12 HE 8:25:10 17.8 — 41.8 —_ T — el
13 Hﬁé 8:29:03 52.5 51 41,7 66. 6 T 3500 49.5
14 = L §:40:09 19. 6 — 10, 2 — T — =
15 Jck BiE 8:57:12 57.6 34 40.7 67.8 T — 52.5
16 % 9:06:03 53.3 58 40. 5 66.9 T = 49,2
17 BHE 9:14:34 51.6 33 41.2 63.0 T = 47.8
18 A 0:26:07 9.0 12. 4 T
19 Hi% 9:32:35 53.5 27 42.0 63.9 T - 49.6
20 & 0:57:54 50,6 13, 1 I 3824 <
21 B 9:47:44 52.4 41 41.9 65.9 T 3324 49.8
22 Hg  9:48:49 23.7 68 411.9 67.2 T 3441 48.9
23 Hig  9:50:21 53.3 63 42,0 67,8 T — 49.8
24 HEE  10:17:15 54.6 47 41.1 66. 6 T 49.9
25 Wi 10 ] 51.4 2. 8 HEL -
26 ¥ R 19. 1 13. 1 1
27 1.9 2.0 El
28 ¥ C i1, : T
29 1.7 HEI
30 40 42.6 69.3 T 53.3
31 38 43.2 66.9 T 511
32 = 42,5 HEL
33 # 1 67,1 HEL 50, 8
34 = T
35 14 64.9 T 53.4
36 =« = 2. 2 = T
KT 41.7 HEL
38 11,8 OF
39 — §0, 8 — OF —
40 = 40, 8 = HEI —
41 14 40,5 64. 1 T 52.6
42 ¥ 11,5 — HE —
43 = - ' — T —
44 = 11.0 T
45 =+ 20 12,0 3| 51
46 + 1] ) 7.1 al.7
47 28 40.9 66. 1 51.6
18 10 40.9 59.3 49.3
49 = ! 312.1 2 614 60, 2
50 «# 2] 12..1 s 14
51 # 11 13, 4 1 103
52 =+ 1.7
53 = N 42.7 a ] 4. |
54 " 2.5 1
55 119 jaz
56 1.7 HEL
57 117 HEL 108
38 1 HEL
59 12 HEL
60 t 2 HEL
61 % > HEL
62 a5 o8, 7 41 HEL 3 i
63 B 30,2 ) HEL i
64 - fjt 2 49 4. 2 T
65 » bl 3 34 4. 5 HEL 1115
66 ¢ : a3, 4 15, 1 HEL 108(
67 a7.1 75 45.2 0T T 2440 53.0
68 £0, 9 16, 3 70,2 HEL 56, 4
69 4.3 4.7 - T — —
70 55.2 33 43.9 66.5 T — 51.3
71 SE| - 5.3 = T — =—
72 54.8 48 43.3 67.7 T — 50.9
73 529 13.0
74 55.5 51 44.0 69. 2 T 2764 52.
75 55.0 43 44. 6 67.4 T 3029 51.
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PVIHZEEED MEHBEETHNERR BREAH
BIER4% : HNO3 78 - [R/NERR

BIER : 20214501 A 020 (+) WMEXS : GHRE
HEH S : HOSERE . EIEE
Lae Laea Lasnax |
N ' I I o W N
1 N2 N3 N4 N E T Laen R 5% o N ECPNL
1 27 1 31 67.9 33.4 34. 9 27.2 20.7 54.5 45.3
R (hE) B
FTe W (EEE)MAREZ b -2uaTn HEREREM) BEEEY 0 L R Lheq
B4 b dB ¥ dB dB d
6 I 17 11:49 od. 3 40 43,0 bi. 1l T L |
77 % 17:37:39 15. 0 $2.8 T
78 e 19, 2 13, 5 I
79 54.8 13 44.3 63.1 T 52.0
80 53. 8 4. 0 )
81 1 Bl 5 4. 0 I
82 18: 50. B 13.5 T
83 b 8 53.3 56 43.3 67.2 T 49.7
84 : 118 32,1 12. 2 T
85 1:52:29 52.2 13
86 WaE 20 19. 9 roe 43.2 = 1 -
87 % 20:48:49 54.5 43 41.2 67.6 T 51.2
88 UM Kizg 22:14:12 50.7 11 40. 5 57.1 OF 46. T
89 HE 22 135 51.0 57 40. 6 64.6 OF 3942 47.1
90 B 22:32:49 14, 7 — 30.4 — 0F —_
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PIHRZEEEED MZEETRERRE BRTAH
RERL : HNO3 78 [R/ANFERF

BER 2021401 H03H (A) WEXS : EHEE
T 7 A HoIS A . EfEE
LAE Lr\t'll LASnax.
N ! I " WECPN
1 N2 N3 N4 N PR Lian B e TR | ~r-ms ECPNL
0 25 0 0 25 66. 7 3.3 34.3 = = 54. 0 41. 0
R (HLZE) b° - 185 %)
/e fh (EER)MARZ v -iua"y HERERFHE] REERT L IR Liteq
dB b dB dB
I = 4 47.9 - 38,5 = i
2 = i 5.0 38, 2 f =
3 = i7.
E ] fo. 8 1
5 = T 45,2 10. 4 T
6 * 7 17.7 0.7 T =
7 H 54.0 40 41.6 66.0 T 2481 50.0
8 = |58 7u2f 47.0 11,7 T 4332
9 iz T 52. 1 9 39.9 58.8 T — 49.3
10 BA O ME T 57.0 45 40.8 69.2 T = 52.7
11 g 7 54.2 45 40.7 67.5 T = 50.9
12+ HiE 8@ 48,2 el 40.2 — T — —
13 o8 54.6 36 40. 6 64. 6 T 49.1
14 HE 8! 19, 3 e 10. 4 = T - £
15 HEE 8 51.7 59 40.6 65.8 T = 48. 1
16 F UGN HE g 50.8 26 40. 6 61.5 T 515 47.4
17 Bz g 52. 4 26 40,7 63.0 T — 48.9
18 g 8 52.2 54 40,6 66.3 T . 49. 0
19 HEg 9 52,6 48 40,2 65.6 T 457 48. 8
20 HE 0] 48. 1 10, 9 T
21 B g:] 45,1 10, 0 1 | i B
22 i 9: al. 7 12 39.9 64. 7 T = 48.5
23 = B 9 {8, 5 40, 4 T 3303
24 HE g 95,0 53 40,5 68. 8 T 2452 51.6
25 e 9 a1 7 64 40.7 66. 0 T == 48.0
26 g 9:51:47 53.0 51 40.7 67.0 T 2540 49.9
27 & 10:07:42 52.3 68 40.7 67.0 T -— 48.7
28 W& 10:19:00 52.7 44 41.0 66. 1 T 2657 49. 6
29 =+ s 10:21:2 54. 1 12,7 2.4 HEI 1454 50. 4
30 = 31:55 48,3 1.2 IF
31 - 47,7 1.7 HEL 1014
32« 5 42, ¢ HEL 2892
33 = 42,7 ¥ 1044
34 47,6 T 2833
35 =+ 19. 2 }2, 2 1914
36 54.0 35 42.9 66. 2 T 1044 50.7
37 55. 1 3 43.6 67.4 T 2247 52,4
38 = 15, 4 41.7 T 3ah2
39 = 52.1 — 42 — T 574 —
40 + 19.0 — 43 — HEL 1044 —
41 # 48, 4 — 43. 2 — HEL 1014 —
42 - B 7 2.2 41 HEL 157 29. 8
43 50.3 — 41.3 — HEI 6 —
44 = 16 1.7 T
45 # 49.13 41. 8 T 1567
46 + 53. 8 17 i1.9 33, 4 HEI 1073 191
AT 52.2 54 41.7 65.8 T 1073 48.5
18 = 55.0 3 12. 0 58.3 HEL 1041 53.5
49 = 0.9 42,9 T
50 + 0. 8 13,3 HEL 1044
51 55.7 27 45. 7 67.2 T — 52.9
52 » 1.0 16, 0 2745
53 # ab T 16, 2
54 55.8 13 45.2 64.3 T = 53.4
55 # 31,4 15
56 » 50. 6 14, 0 00y
57 55.3 55 43.9 69.5 T - 52.1
58 53.9 59 43.2 68. 7 T 2305 51.0
59 R 57.0 53 42.5 69.2 T — 52.0
60 61.35 19 12 0.4 HEL 310 DT
61 = 0. 0 i1 T
62 45. 8 40
63 54.6 50 40.6 66.7 2980 49.7
64 = 48. 6 -5 T
65 = 4E. 1 19, 5 T
66 = 50,9 ( HEL
67 # 441 39, 7 X
68 48.5 — 10, 0 — T i -
69 45.5 — 39, § — T 743 —
70 = 19, 1 5 18, &
71 = 16, 4 18 2 —
72 15. 1 36, 4
73 19. 5 ). 3 i
74 {5.9 ] I
75 A5.% :
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